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1. For the two-bus system in Fig. 1, please use Newton-Raphson method to calculate the

voltage magnitude and angle at Bus Two. Assume that Bus One is the slack and SB =

ase

100 MVA. Fig. 1 indicates the initial state of power flow simulation. (25%)

Line Z = 0.1j
One 1.000 pu Two e  1.000 pu
Bl
0 MW i 200 MW
0 MVR 100 MVR
Fig. 1

2. A 350 MVA, 230/20 kV transformer has leakage reactance of 10%. What is p.u. value on
100 MVA base? What is the value in ohms (230 kV)? (10%)

3. Please give a brief description of power system state estimation? (10%)

4. Please find the current i(?) of Fig.2 in steady state (15%)
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Fig. 2

5. Please compute the rms value of the voltage waveform of Fig. 37 (10%)
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6. Fig. 4 shows a 3-bus power system, please calculate the short circuit capacity at Bus 37

(10%)
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Fig. 4

7. Please give a brief description for the effect of transmission losses on economic dispatch.
(10%)

8. Please intorduce the critical clearing time (CCT) of power system stability (10%)






